t35_pes_0
(TMY9AcP2KAuLpRioN2qJazvVyV8DdnFjbAL)

October 27, 2020

Let v2_struct_0 : t=-0 be given. Let [2_pcs_0 : t=0 be given. Let m1_subset_1 :
t=>1=0 be given. Let ul_struct.0 : 1= be given. Let k20_pcs 0 : 1= be
given. Let rl_pcs 0 : t=t=1=0 be given. Let kd_tarski : t=>1t=>1 be given.
Let k2_zfmisc1 : 1=1=- be given. Let vl_zboole 0 : 1=>0 be given. Let
[1_struct0 : t=-0 be given. Let {1_pcs0 : t:=0 be given. Let ul_pcs.0: 1=t be
given. Let kl_zfmisc_1 : 1= be given. Let [1_orders_2 : 1=o0 be given. Let
v12_pes 0 : 1=0 be given. Let k4_zboole 0 : t=>1=-1 be given. Let k3_subset_1 :
t=1=>1 be given. Let ul_orders_2 : 1=t be given. Let k3_relset_1 : t=1=1=>1
be given. Assume the following.

VX0VX1.VX2VX3.(kd_tarski X0 X1 € (1)
k2_zfmisc.1 X2 X3)<((X0 e X2)A(X1 € X3))

Assume the following.

VX0.VX1.(ml_subset .1 X0 X1)=((vl_xboole 0 X1)V @)
(X0 e X1))

Assume the following.

VX0.((—v2_struct_0 X0)A(I11_struct_0 X0))=(—wvl_zboole_0 (3)
(ul_struct 0 X0))

Assume the following.

VX0.(11-pcs 0 X0)=(ml_subset_1 (ul_pcs0 X0) (kl_zfmisc-1 (@)
(k2_zfmisc_1 (ul_struct-0 X0) (ul_struct-0 X0))))

Assume the following.
VX0.(12-pcs 0 X0)=((I1-orders-2 X0)A(I1_pcs_-0 X0)) (5)
Assume the following.

VX0.(I1_pcs 0 X0)=(I1_struct_0 X0) (6)



Assume the following.

VX0.(12-pcs 0 X0)=((v12_pes-0 (k20_pcs_0 X0))A(12_pcs_0
(k20_pcs_0 X0)))

Assume the following.

VX0.(11-pes 0 X0)=(VX1.(ml_subset_ 1 X1 (ul_struct0
X0))=(vX2.(ml_subset_1 X2 (ul_struct-0 X0))=-((rl_pcs_0
X0 X1 X2)e(kd-tarski X1 X2 € ul_pes_0 X0))))

Assume the following.

VX0.VX1.VX2.(X2 = kd_aboole 0 X0 X1)=(VX3.
(X3 € X2)e((X3 e X0)A(-X3 € X1)))

Assume the following.

VX0.VX1.(ml_subset.1 X1 (k1_zfmisc.1 X0))=(k3_subset_1
X0 X1 = k4_xzboole 0 X0 X1)

Assume the following.

VX0.(12pes 0 X0)=(VX1.((v12_pes-0 X1)A(I2_pcs_0

X1))=((X1 = k20pcs0 X0)<((ul_struct 0 X1 = ul_struct_0 X0)A(
(ul_orders2 X1 = k3_relset_1 (ul_struct_0 X0) (ul_struct-0 XO0)

(10)

(ul_orders2 X0))A(ul_pes-0 X1 = k3_subset_1 (k2_zfmisc_1 (ul_struct_0

X0) (ul_struct0 X0)) (ul_pcs0 X0))))))

Theorem 1

VX0.((—v2_struct-0 X0)A(12_pcs_0 X0))=(VX1.(ml_subset_1
X1 (ul_struct-0 X0))=(VX2.(ml_subset_1 X2 (ul_struct0
X0))=(vX3.(ml_subset_1 X3 (ul_struct_0 (k20_pcs_0 X0)))=
(VX4.(ml_subset_1 X4 (ul_struct-0 (k20_pcs_0 X0)))=-((

(11)

(X1 =X3)IN(X2=X4))=((rl-pcs0 (k20_pcs-0 X0) X3 X4)V(rl_pcs-0

X0 X1 X2)))))))



